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rootiEwel [11:32am] ™ > ifconfig
boel: flags=824Z<UP.BROADCAST .RUNMIMG,.SIMPLEX MULTICAST » metric O mtu 1500
optiona=1bb<EHECSUM  THCSUM VLAN_MTU  VYLAM_HWTAGGIHG . JUMBO_MTU . LAM_HWCSIIM . TS0 >
ether O0323:7d:24127 132
inete FeB0:r223:7dif 1feldd 127 325boel prefixlen bd scopeid Oxl
inet 163,21,249,178 netmask OxFEEFFFOD broadocast 163.21,245,.2655
[inetf 2001:288:12003::178 prefixlen 48]
media: Ethernet autoselect (1000bazeTH <full-duplex>:
ztatus! active
boel: flags=8202<BROADCAST .SIMPLEX.MULTICAST > metric O mtu 1500
optione=1bb<EHCSUM . THCSUM VLAN_MTU  VYLAM_HWTAGGIHG . JUMBO_MTU . LAM_HRCSIIM . TS0d >
ether O0323:7d:24127 130
media: Ethernet autoselect (none!
statusi no carrier
lof: flags=8049<UP LODOPEACK .RUNNIMG .MULTICAST » metric O mtu 16384
inete i1l prefixlen 123
inete feB0::1¥lol prefixlen 6d scopeid Ox3
inet 127.0,0,1 netmnask OxFFO00000
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1. s ipve fRE RIS » (£ ping6 i1 (211 REFET)

rootBueh [11:07am] “ »|pingé 1:i

PIMGE (Ea=40+8+8 hytes) ::1 —> 1:1

16 bytes from 31, icmp_seq=0 hlim=6d time=0,070 m=

16 bytes from icmp_seqg=1 hlim=6d time=0,030 m=

16 hytes from icmp_seq=2 hlim=fd time=0,023 ms

16 bytes from icmp_seq=3 hlim=Gd time=0,023 ms

16 bytes from icmp_segq=d hlim=6d time=0,029 m=

“C

—— i1 pingb statistics ——

5 packets transmitted. 5 packets received. 0.0% packet loss
rouncd-trip mindave/max std—dew = 0,028/0,037/0,070/0,017 n=
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2. HIEK ipv6 address g% E & iEHE > ping6 2001:288:1200::178

rootEwelh [11:08an] * » [pingh S00]iroo:l-00: 170

PIMGE ¢5Ee=d0+2+8 hytes) 2001:;288:1200::178 —-> 2001:288:1200::178
16 hytes from 2001:288:1200::178, icmp_seq=0 hlin=hd time=0.0B6 mz
16 bytes from 2001:288:1200::178, icmp_zeg=1 hlim=bd time=0,03Z2 m=
16 bytes from 2001:238:1200::178, icmp_seg=2 hlim=5d time=0,021 m=
“C

——— 2001:283:1200::173 pingt statistics —

2 packetz transmitted. 2 packets received. 0,0% packet loss
rounc-trip mindavg/maxsstd-dew = 0,031/0,043/0,066,/0,016 n=

3. ping ZELAHIELE: - ping6 2001:288:1:1006::6
rootBwel [11:17am] ™ > pingb 2001:288:1:10061:15]
FIMGE (5E=40+3+8 hbytes) 2001:283:12004:178 —-> 2001:288:1:10061 15
16 bytes from 2001:288:1:1006: 16, icmp_seg=1 hlim=6a0 time=d4,067 m=
16 bytes from 2001:288:1:1006: 6, icmp_seg=2 hlim=60 time=7.,291 m=
16 bytes from 2001:288:1:1006: 6, icmp_seg=3 hlim=6a0 time=2,128 m=
16 bytes from 2001:288:1:1006::6, icmp_seg=d hlim=60 time=1,082 m=
16 hytes from 2001:288:1:1006: 6, icmp_seqg=5 hlim=6a0 time=1.872 m=
16 bytes from 2001:288:1:1006: 6, icmp_seg=6 hlim=60 time=1.22d m=
“C
——— Z001:288:1:10061 16 pingh statistics ——
7 packets transmitted. & packets received. 14.3% packet loss
round—trip mindavgimaxsstd-dey = 1,082/2,944,/7 291/2,176 n=
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